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Figure 5.59 Basic structure of the circuit used to realize single-stage, discrete-circuit BJT amplifier configurations.




Exercise 5.41




\\M“-m. Q
— an.'\ (A d

mm

"OP mﬁo?\u

per

%
§f@
f

m
-

mﬁ.« : Q‘-Ut/h,‘qv-vo/‘v' -t 4. ‘
Omo“ vﬁu'gt d“’\ 6v= V«o/v,,a

Table 5.5

Unilorerel = & »Av, Re fived (Rt )Re Hor' ““P"e"" pleper ”>
Non- undstered =5 R.. , Gousr, Av m-, dqwu‘ ov\ R;,R;dr. clmkmhmlfb .

(Rin, Rour “actuad vellles, includ







Exercise 5.42




CC! p) CC—'&.
Coupd =~ cofadlm:

%bM-Te,«wJe?* c.'ut...:.f. *

Ry e S L gm«zw
’ & «ﬁmw e S o ”@: o
: «vw#»y,g}w« g Qoo
Yty Ry R, R,
Ky, "o, f 5] o
{(b)

Figure 5.60 (a) A common-emitter amplifier using the structure of Fig. 5.59. (b) Equivalent circuit obtained by replacing the
transistor with its hybrid-z model.
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Fg re 5.61 (a) A common-emitter amplifier with an emitter
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Figure 5.62 (a) A co mplf ing the t ture ng 5.59. (b) Equivalent circuit obtained by replacing the transistor
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Figure 5.63 (a) An emitter-follower circuit based on the structure of Fig. 5.59. (b) Small-signal equivalent circuit of the emitter follower with the
transistor replaced by its T model augmented with 7. (¢) The circuit in (b) redrawn to emphasize that 7, is in parallel with R,. This simplifies the
analysis considerably.
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Figure 5.64 (a) An equivalent circuit of the emitter follower obtained from the circuit in Fig. 5.63(c) by reflecting all resistances it the emitter to E

the base side. (b) The circuit in (a) after application of Thévenin theorem to the input circuit composed of v, R , and Ry, R L
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Figure 5.65 (a) An alternate equivalent circuit of the emitter follower obtained by reflecting all base-circuit resistances to the emitter side. (b) The
circuit in (a) after application of Thévenin theorem to the input circuit composed of v, R,/ (B#1), and R,/ (B4pl).
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Figure 5.66 Thévenin equivalent circuit of the output of the emitter follower of Fig. 5.63(a). This circuit can be used to find v, and hence the
overall voltage gain v /v, for any desired R;.
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